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This encryption algorithm takes m successive
plaintext letters and substitutes for them m
ciphertext letters. The substitution is determined
by m linear equations in which each character is
assigned a wumerical value (a=0,b =1.¢, & = 25). Then(15 0 24)K = (303 3D
(1717 11) =RRL
For m = 3, the system can be descrived as: Ae{(M)= 1(0'24)‘2(0'20)
Cowtinuing in this fashiow, the ciphertext for P
(kpy + kaupa + kypy) mod 26 the entire plaintext is RRLMWBKASPDH * 3(0 5)
+ kapy + kups)

The first three letters of the plaitext are
represented by the vector (15 0 24).

3 531) mod 26 =

(ki + Kawps + k) mod 20

This can be expressed in terms of row vectors and matrices:”

ki ke k
ez = @ pp| ko ke ey fmod 26 mat
Ky kn ok

We can compute det K =23, and therefore,
€ = PKmod26 \

where C aud P are row vectors of length 3 represewting
+he plaintext and ciphertext, and Kis a 3 * 3 matrix
represewting the encryption key. Operations are
performed mod 2.6. For example, consider the plaintext
“paymoremoney” and use the encryption key

Divide each +erm of +he adiugate matrix
Create the matrix of cofactors. by the determinan

17 17 5 I ;(M)=[:§g::g ,?Hf:
21 18 21 ‘*

e -5 -4 1] |+ -
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